


=|Jh|§

soLTeECH

*¢SPECIFICATION

PRESSURE CONTROLS
REMOTE CONTROL RELIEF VALVES

[DG-01,DT-01 )

MAX. PRES. MAX. FLOW | WEIGHT
MODEL | SIZE MPa(PSI) ¢/min(GPM) (Kg)
DT,DG | Of 25 (3630) 16(4.2) 15
*ACCESSORIES
MODEL SOQKET HEAD SFREW CAP O RING
European Design. Std.| N. America Design Std.
DG-01 M5 x 45 Lg.  |No.10-24UNC x 1-3/4 Lg.[4[Pcs| P9 [2[Pcs
**GRAPHIC SYMBOL
DT, DG
L
*MODEL NUMBER DESIGNATION
D e 01 B (90)
TYPE OF CONNECTION PRESSURE ADJ. RANGE DESO'GN_N°-
& VALVE SIZE e SRS
SERIES NO. SUB-PLATE TYPE o1 12" B:0.7~7(101.5~1015) ;
T : C:3.5~14(507.5~2030) 90:
THREADED TYPE H:7~25(1015~3630) (h%NR%i?E';E)
*PERFORMANCE CURVE
DG/DT 210 DG/DT
1.2 {174} {3045}
()
5 1.0 {145
g (e 175 1]
& = 08 {116} {2538}
T L —
<5 0.6 {87} © % 14.0
E = a2 L (2030}
2 = 04 {68} 8o L
£ &= 405
s 0.2 {29 :
= {29 {1523}
0 2 4 6 8 10 12 14 16 7.0
{1015}
{0.44}{0.88}  {1.76}{2.2} {3.08}{3.52} I —
{1.32} {2.64} 35
0 4 6 8
{1.32}
{0.88}  {1.76}

FLOW (¥min)}{GPM}




=|Jh|5®

m soLTecH

PRESSURE CONTROLS
REMOTE CONTROL RELIEF VALVES

DIMENSIONS

DG-01

144 (5.67)

__103(4.08)

e — -

— -

. 30(1.18) 61(2.40)

(1.08)
27

UNIT: M.M.

DIMENSIONS

71.5(2.81)

171(673)

113.5 (4.47)
Y T -8 =
- bl -
gg ]_;_'_________._._
[
| B
1 S

T1THEX. (0.67)

UNIT: M.M.

PAGE 80



=|Jh|§

soLTeECH

*¢SPECIFICATION

PRESSURE CONTROLS
DIRECT TYPE RELIEF VALVES

[DG-02,DT-02])

MAX. PRES. MAX. FLOW | WEIGHT
MODEL | SIZE MPa(PSI) €/min(GPM) (Ka)
DT,DG | 02 21(3050) 16(4.2) 15
< ACCESSORIES
MODEL SOQKET HEAD SF:REVY CAP O RING
European Design. Std.| N. America Design Std.
DG-02 M5 x 45 Lg.  |No.10-24UNC x 1-3/4 Lg.[4[Pcs| P9 [2[Pcs
**GRAPHIC SYMBOL
DT, DG
il
s MODEL NUMBER DESIGNATION
D G 02 B (90)
TYPE OF CONNECTION PRESSURE ADJ. RANGE DESIGN No.
& VALVE SIZE Mz es) Sl
SERIES NO. SUB-PLATE TYPE LS B:0.7~7(101.5~1015) RINIII2IBORIS
T 02: 1/4 C:3.5~14(507.5~2030) UNCQ&)LTS
THREADED TYPE H:7~21(1015~3050) il
*PERFORMANCE CURVE
DG/DT 21.0 DG/DT
1.2 {174} {3045}
> 1.0 {145
2 el 17.5 =
£ = 08 {116} {2538}
T L —
g 506 {87} 2% 140
IS n = {2030
5 = 04 (68) g & 200 [ I I
£ = 05 [ ]|
S 02 {29 (1553
0 2 4 6 8 10 12 14 16 1%-105
{0.44}{0.88})  {1.76}{2.2} {3.08}{3.52} {1019} L1
{1.32} {2.64} a5 1
0 2 4 6 8 10 12 14 16
(044} {132} {22} {3.08)
{0.88} {1.76} {2.64} {3.52}
FLOW (Umin){GPM} ~ —>

PAGE 81



DIRECT TYPE RELIEF VALVES

—J*ls PRESSURE CONTROLS
i

m soLTecH

DIMENSIONS

171(8.73)

i 103 (4.06)
F'- =

1.18 ;
30(1.18)  61(2.40)_

2 27(1.08)
é.ﬁ =i 2(0.08)
= = | [ i = =
=Y
-l : TR
=]
s s
Jl112] .'I \ {0.22)
(0.47) / \ 4-855
L Fla] DRAIN PORT
ks
UNIT: M.M.
DIMENSIONS
DT-02
Mo
DR:_::T_T\ 71.5 (2.81)
23
Lo m]
PRES. PORT /
PT-1/4 (Re)

171(8.73)

113.5 (4.47)

53 (2.09)
26.5 (1,04)

_ 1T HEX. UNIT: M.M.

PAGE 82



=|Jh|§

m soLTecH

PRESSURE CONTROLS
PILOT OPERATED RELIEF VALVES

[BG/BT-03,06,10])
*SPECIFICATION #*GRAPHIC SYMBOL
BG, BT
MODEL| size| MAX. PRES. |max. FLow| WEIGHT | —
MPa(PSI) 2/min(GPM) N BG-03
BT | BG T
03 100(264) [25] 5 | |- M
BG,BT | 06 25 (3630) 200(52.8) 35| 6.2 il
10 400(105.6) 9 10
*<MODEL NUMBER DESIGNATION
B G 03 B (90)
CONNECTION TYPE VALVE SIZE PRES. ADJ. RANGE DE%I'\GMI\_IFNO.
G: 03: 3/8", 6264-AR-06-2-A MPa( psi) .
SE,\%ES SUB-PLATE TYPE 04: 1/2" B:0.7~7(101.5~1015) | DN 91920?0”3
: T 06: 3/4", 6264-AS-08-2-A | C:3.5~14(507.5~2030) UNC BbLTS
THREADED TYPE 10: 1(1/4)", 6264-AT-10-2-A | H:7~25(1015~3630) (NORTH AMERICA)
*<ACCESSORIES
SOCKET HEAD SCREW CAP
— European Design. Std. | N. America Design Std. European Design. Std.|N. America Design Std. E—
BG-03 M12x70L 1/2-13UNC x 2-3/4 Lg. |2|Pcs M12x95L 1/2-13UNC x 3-3/4 Lg. |2|Pcs| P9 |1|Pcs| P20 |2|Pcs
BG-06 M16x60L 5/8-11UNC x 2-1/4 Lg. |2|Pcs M16x80L 5/8-11UNC x 3-1/4 Lg. |2|Pcs|P10A|1|Pcs| P29 | 2 |Pcs
BG-10 M20x70L 3/4-10UNC x 2-3/4 Lg. |2|Pcs M20x90L 3/4-10UNC x 3-1/2 Lg. |2 |Pcs|P10A| 1|Pcs| P36 | 2 |Pcs
*PERFORMANCE CURVE
Vent Pressure BG/ BT‘03
= === Min. Adjustment Pressure
0.7 {102} 25 {3625}
0.6 {87} oo e = —— — |
—————— 7}
8,: High Venting Pressure Type _ | % 23 {3335}
N N A R T 16 {2320}
£ 504 {68) [—Lmmspem —— = —
%% — 5 14 {2030}
a e 8 1.6 (232}
0.2 {29} ~, - & —
ow Venting Pressure Type
| | 1.0 {145} —
1 1 1 ] |
0 25 50 75 100 0 25 50 75 100
(6.6} {13.2} {19.8} {26.4} (6.6} {13.2} {19.8} {26.4}
FLOW (#/min}{GPM} FLOW (#min){GPM}
Vent Pressure BG/BT—06
= === Min. Adjustment Pressure
1.4 {203} 25 {3625}
3,\1'2 {174} E 23 (3338)
?, g High Venting Pressure Type & 16 {2320}
5% 0.8 {116} _ s —
B0 = )
8= . A --------------- 5 14 {2030}
04 (58) I 8 1.9 {276}
DS Low Venting Pressure Type o = —
— t { 1.3 {189}
| | 1 1 1 ] ]
0 50 100 150 200 0 50 100 150 200
{13.2} {26.4} {39.6}  {52.8} {13.2} {26.4} {39.6} {52.8}
FLOW (¥min)}{GPM} FLOW (¥min)}{GPM}
Vent Pressure BG/BT'1 0
= === Min. Adjustment Pressure
1.6 {232}
25 {3625} ——
aQ 1.2 {174} |~ High Venting Pressure Type ;ﬁ: 23 {3335}
<P 4 T 16 {2320}
[a)7 4 ------------ - T o
2% 0.8 {116} —=F— £ =
EX I / P ——— o 14 {2030}
6= =1 3 2.0 {290}
& 04 {58 8 ——
o
e Low Venting Pressure Type 12 {174}
1 1 1 | ]
0 100 200 300 400 0 100 200 300 400
{26.4} {52.8} {79.2} {105.6} {26.4} {52.8} {79.2} {105.6}
FLOW (/min)}{GPM} FLOW (/min)}{GPM}

PAGE 83



—J*ls PRESSURE CONTROLS
i

PILOT OPERATED RELIEF VALVES
e SOLTECH

BG-SERIES :
==
INC.
VENT PORT
FRESSURE GAUGE R O A = O R R
~ CONNECTION 4 POSITION OF PRESSURE
[ . ADIUSTMENT HANDLE ARE
PT-1/4 AVAILABLE BY RUTATING
( /“\ COVER ASSEMELY AS SHOWN.
1
(&) Lm L
< - e K
¥ Khn = 5
Y PRES. PORT ’
m ‘|: e : :::éL‘I.E.—
PRl - [
] i \'I i
© e |
i\\\ = ] Ao ——__.]____&_' i
T ; MOUNTING
F DRAIN PORT o T
— —
E
= ¢
UNIT: M.M.(INCHES) B
I
BG-03 117(4.60) | 75.5(2.97) | 21.5(0.84) | 83(3.26) | 41.5(1.63) | 14.5(0.57) | 78(3.07) | 77.5(3.05) | 58.5(2.30) | 136(5.35) | 41(1.61) 146(5.74) H
BG-06 145(5.70) | 87.5(3.44) | 5.5(0.21) | 104(4.09) 52(2.04) 17(0.66) 78(3.07) 60(2.36) 40(1.57) 164(6.45) | 41(1.61) 146(5.74)
BG-10 | 175(6.88) | 106(4.17) | 8(0.31) | 125(4.92) | 62.5(2.46) | 21.2(0.83) | 90(3.54) | 69.5(2.73) | 49.5(1.94) | 195(7.67) | 46(1.81) | 155(6.10) G
AR
BT-SERIES —
[PT.
iRe)
[
__c
ol + KR
— — ]
Il
1
: |
T .
(Re)PT-1/4 H'. _'%ﬁés R E
PRESSURE GAUGH .
. COMNICTION T4 11 (T
[ = - - _J = ' E
=S i gl & |
& = e A I
[P B — .
| DRAIN PORT
I@ — |—|—q-| . LHAIN R
[ 3 J L - -
JD: _ﬂ' 17 HEL
ans”
NPT T S M
Iﬁaﬁ;bfcmmmwmmm!
1 ADJUSTINT AANDLE AR
AVAILABLE BY ROTATING
e o UNIT: M.M.(INCHES)
m A Fq D E F F*
BT-03 | 77(3.03) 38.5(1.51) | 132(5.19) | 31.5(1.24) | 123(4.84) 42(1.65) 65(2.55) 42(1.65)
BT-06 | 102(4.01) 51(2.00) 140(5.51) 39(1.53) 132(5.19) 52(2.04) 62(2.44) 52(2.04)
BT-10 | 140(5.51) 70(2.75) 152(5.98) 48(1.88) 191(7.51) 84(3.30) 86(3.38) 82(3.22)

PAGE 84



—Jrs PRESSURE CONTROLS
i

PILOT OPERATED RELIEF VALVES [31.5MPa]

m soLTecH

[HBG/HBT-03,06]
*SPECIFICATION =

HBG-03
MODEL | SIZE MPa(PSl) | &/min(GPM) (Ka)
03 100(26.4) 25
HBG 06 | 315 @570) 200(52.8) 3
HBT 06 125(33) 52

**MODEL NUMBER DESIGNATION

CONNECTION TYPE PRESSURE ADJ. RANGE DESC‘)',\GM'E'FNQ
G: VALVE SIZE MPa(psi) :
S ou|  SUB-PLATE TYPE 03: 3/8" B:0.7~7(101.5~1015) DIN912 BOLTS
ol T 06: 3/4" C:3.5~14(507.5~2030) UNCQIE(KJCLTS
THREADED TYPE H:10~31.5(1450~4570) (NORTH AMERICA)
**ACCESSORIES *GRAPHIC SYMBOL
SOCKET HEAD SCREW CAP HBG, HBT
e European Design. Std. | N. America Design Std. S = ,\J
HBG-03 M12x45L 1/2-13UNC x 1-3/4 Lg. |4|Pcs| P9 |[1|Pcs| P20 |2|Pcs :Ewl/\
HBG-06 M16x45L 5/8-11UNC x 1-3/4 Lg. |4|Pcs| P9 |1|Pcs| P29 |2 |Pcs -
il

#*¢PRODUCTS LIST

PAGE 85



—J*ls PRESSURE CONTROLS
i

PILOT OPERATED RELIEF VALVES [31.5MPa]
e SOLTECH

DIMENSIONS

HBG-SERIES

A | l

Eiy.

PRESSURE
AR \\ PORT
VENT PORT

UNIT: M.M.(INCHES)

HBG-03 | 97(3.81) | 53.8(2.11) | 22(0.86) | 25.1(0.98) | 84(3.30) | 53.8(2.11) | 15(0.59) | 26.9(1.05) | 22(0.86) | 118(4.64) | 26(1.02)
HBG-06 | 115(4.52) | 66.5(2.61) | 11(0.43) | 33.5(1.31) | 100(3.93) | 70(2.75) | 15(0.59) | 35(1.37) | 33.3(1.31) | 118(4.64) | 24(0.94)

DIMENSIONS
HBT-SERIES
P &
VENT PORT
et PT-3/8
f ﬂu l (R':]
] 1 PRESSURE GAUGE
! | CONNECTION L
M 1 T | i-_ )
i )
L% % §
=V :
3 ﬂ 2]
| j <
T MER) . B
! ~ (1.85) 42 |
; (1.77) (Re)PT-3/4
@ bYm
1O <O -*
|| I.' i '\I ] 1
i\ -.r ] | R | — ]
L@n LOCK NUT ' ’ 3
M| I~ <~ i ] ; |
. f{_“ A 1THEX, L _% | %l
."K y ¥ | II | = X
L1 umsremes, MY [ S
TT 71/ 4POSITION OF PRESSURE I Bl
/" ADJUSTMENT HANDLE ARE f L = |
" AVAILABLE BY RUTATING % -
COVER ASSEMBLY AS SHOWN, \l\_|_ L i

PAGE 86



—Jrs PRESSURE CONTROLS
i

PILOT OPERATED RELIEF VALVES
e SOLTECH

[DBG/DBT-03])
*¢SPECIFICATION
MODEL | Size | MAX. PRES. | MAX. FLOW WEIGHT

MPa(PSI) &/min(GPM) (Ka)
DBG 25
DBT 03 25 (3630) 40(10.5) =5

**MODEL NUMBER DESIGNATION

PRESSURE ADJ. DESIGN No.
CONNEC('I;I-ON TYPE . RANGE OMIT:
- VALVE SIZE MPa(psi) DIN 912 BOLTS
SERIES NO. SUB-PL?_'.I'E TYPE 03: 38" | B:0.7~7(101.5~1015) o0;
- C:3.5~14(507.5~2030) UNC BOLTS
THREADED TYPE H:7~25(1015~3630) (NORTH AMERICA)
#*<ACCESSORIES *¢GRAPHIC SYMBOL
SOCKET HEAD SCREW CAP DBG, DBT
e European Design. Std. | N. America Design Std. e P \J
DBG-03 M10x55L 3/8-16UNC x 2-1/4 Lg. [4|Pcs| P9 [1|Pcs| P18 |2][Pcs ! M
L

*¢PRODUCTS LIST

PAGE 87



—J*ls PRESSURE CONTROLS
i

PILOT OPERATED RELIEF VALVES
e SOLTECH

DIMENSIONS
DBG-SERIES
LOCK NUT
/T OTHEX
] ! (o.87)
] PRES. ADJ. HANDLE
. D
1 | A | O . 3 E
| i = B '
L g
G MOUNTING 8 sl et
e H _ | surrace . s34 ;',’1‘\‘ .':’l'“‘ @-ﬁ
— L — g e —
A =

y -
; DRAIN PORT
AT
/S
7 7 0.51
VENTPORT /'PRES, PORT / 40 13(0-81)

UNIT: M.M.(INCHES)

MODEL A B c D E F G H
DBG-03 | 80(3.14) | (40(1.57)) | 13(0.51) | 165(6.49) 89(.50) 35(1.37) 87(3.42) 42(1.65)

DIMENSIONS

DBT-SERIES

min]
.

MAX. K 165 (6.50)

58 (2.28)

96 (3.78)

- X DRAIN PORT
,_7//‘ \| (Re)PT-3/8

©

PAGE 88



—Jrs PRESSURE CONTROLS
i

SOLENOID PILOT OPERATED RELIEF VALVES
e SOLTECH

[DBW-10,20,30])

*SPECIFICATION
MAX. PRES. [MAX. FLOW | WEIGHT
MODEL | SIZE MPa(PSI) €/min(GPM) (Kg)
10 100(26.4) 383
DBW 20 32 (4640) 200(52.8) 4.4
30 400(105.6) 6.5
**MODEL NUMBER DESIGNATION
— |
DBW [ 20 B (90)
PRESSURE ADJ. RANGE DESIGN No.
VALVE SIZE MPa(PSI) OMIT:
SERIES 10: 3/8" B:0.7~7(101.5~1015) DIN 912 BOLTS
NO. 20: 3/4" C:7~14(1015~2030) 90:
30: 1(1/4)" H:7~21(1015~3045) UNC BOLTS
2H: 7~310(1015~4495) (NORTH AMERICA)
*<ACCESSORIES
SOCKET HEAD SCREW CAP
— European Design. Std. | N. America Design Std. | Q'ty S
DBW-10 M12x40L 1/2-13UNC x 1-1/2" Lg. |4|Pcs| P9 |1|Pcs| P18 |2|Pcs
DBW-20 M16x45L 5/8-11UNC x 1-3/4" Lg. [4|Pcs| P9 |[1|Pcs| P29 |2|Pcs
DBW-30 M12x40L 1/2-13UNC x 1-1/2" Lg. |4|Pcs| P19 |1|Pcs| P36 |2 |Pcs

*¢PILOT VALVES DESIGNATION:

Type 2B3A 2B3B 2B2B 2B2 3C2 3C3
Graphic EEﬁMj E@Mj E@Wj E@Tj ’m @Zﬁﬂ@

symbols | -+ | | (o L kg L g L g [

e L I e o S g g e i o [ B

Sol. Oper.| gwG-02-2B3A | SWG-02-2B3B | SWG-02-2B28 SWG-02-2B2 SWG-02-3C2 SWG-02-3C3

Dir. Valve (Please refer to page 7 for | (Please refer to page 7 for | (Please refer to page 7 for | (Please refer to page 7 for | (Please refer to page 7 for | (Please refer to page 7 for

Model No. more information) more information) more information) more information) more information) more information)
DIMENSIONS

B:hO
] Pressure Port
E B0
n * Tank Port
1.1l W/ . d
T—" Vent Fort
5 y
| Pk . o ;]

=

1 i | |
. a |
. ! 1 —-l-l
- G ! A H '
Mounting Interface |
— |
UNIT: M.M.(INCHES)
[MODEL A B e D E F H G
DBW-10|  164.3()6.47 27.2(1.07) 12.1(0.48) 27(1.06) 191.1(7.52) 83.5(3.29) 78(3.07) 39(1.54)
DBW-20 | 170.8(6.72) 33.8(1.33) 14.25(0.56) 27.5(1.08) 188.1(7.41) 80.5(3.17) 98.5(3.88) 49.25(1.94)
DBW-30 |  184.2(7.25) 42(1.65) 15.9(0.63) 29(1.14) 191.1(7.52) 83.5(3.29) 114.5(4.51) 57.25(2.25)

PAGE 89



PRESSURE CONTROLS
SOLENOID PILOT OPERATED RELIEF VALVES

=|Jh|§

soLTeECH
[BsG/BsST-03,06,10])
#*SPECIFICATION i
WEIGHT e
MODEL | Size | MAX. PRES. IMAX. FLOW| ™ kq) BSG-03
afpsh min(GPM) " 'BsT [BSG
03 100(26.4) 46 | 5.6
BSG, BST 06 25 (3630) 200(52.8) 4.6 7
10 400(105.6) 9.4 |10.8
*<ACCESSORIES
MODEL : . SOQKET HEAD SCREW CAP : . O RING
European Design. Std. | N. America Design Std. European Design. Std.|N. America Design Std.
BSG-03 M12x70L 1/2-13UNC x 2-3/4 Lg. [2|Pcs M12x95L 1/2-13UNC x 3-3/4 Lg. |2|Pcs| P9 [1|Pcs| P20 |2 |Pcs
BSG-06 M16x60L 5/8-11UNC x 2-1/4 Lg. |2|Pcs M16x80L 5/8-11UNC x 3-1/4 Lg. |2|Pcs|P10A|1|Pcs| P29 | 2 |Pcs
BSG-10 M20x70L 3/4-10UNC x 2-3/4 Lg. |2|Pcs M20x90L 3/4-10UNC x 3-1/2 Lg. |2 |Pcs|P10A| 1|Pcs| P36 | 2 |Pcs
*¢MODEL NUMBER DESIGNATION
BS G 03 B (2P) (90)
VALVE SIZE OMIT:SINGLE DESIGN No.
CONNECéI:ON TYPE (RPT) PRESSUI’\?AEBQI;.)J. RANGE PRESSURE CONTROL OMIT:
SERIES SUB-PLATE TYPE 03: 3/8", 62.64—A"R—06—2—A B:0.7~7(101.5~1015) 2P:DUOPRESSURE DIN 912 BOLTS
NO. N 04: 1/2 C:3.5~14(507 5~2030) CONTROL 90:
. 06: 3/4", 6264-AS-08-2-A ey - 3P:TRIPRESSURE UNC BOLTS
THREADED TYPE 10: 1(1/4)". 6264-AT-10-2-A H:7~25(1015~3630) CONTROL (NORTH AMERICA)

*¢PILOT VALVES DESIGNATION % GRAPHIC SYMBOL

Vent Graphic | Sol. Oper. Dir. Valve Operation _BSG-2P_
Type Symbols Model No. SOL "a" | SOL "b" Vent Connecting ‘ L - ‘
- AT - a
P OFF Connected to port "A".
E@j@j SWG-02-2B3A P | ‘
2B3A 47”[ a ‘ (Please refer to page 7 for more | -=
TQJT e ON [ Connected to tank (no-load) . E
. I I
B0 j é{ L
g OFF | Connected to tank (no-load C
PB3E ‘ @ ‘ SWG-02-2B3B ( ) = =
L | (Please refer to page 7 for more ===
F}» : I ‘ information) "on _ BSG'3P7
i ON Connected to port "B". A" D"
: K 1|
=23 - Closed state (relief valve | |
[t ] OFF :
! o SWG-02-2B2B setting pressure)
2B2B F}»***I ra ‘ (Please refer to page 7 for more | ===
' : L ON Connected to port "B". ‘ - ‘ - { J‘
== P g T
- L
’? j OFF Connected to port "A". _ - _
‘ A SWG-02-2B2
2B2 F}»***I s ‘ (Please refer to page 7 for more | ===
w ‘ information) ON Connected to port "B".
’57‘ in o OFF | OFF (relief vaclillce’ssee(:tisrzgtgressure)
AL SWG-02-3C2
3c2 474 5 ‘ (Please relfnef::) tr?n 2232)7 formore | ON | OFF Connected to port "A".
ER OFF | ON Connected to port "B".
@Fh@ OFF | OFF | Connected to tank (no-load)
‘ L iavy SWG-02-3C3
3C3 47”: Fa ‘ (Please refer to page 7 formore | ON | OFF Connected to port "A".
. | . information)
7 OFF | ON Connected to port "B".

PAGE 90



=|Jh|§

m soLTecH

PRESSURE CONTROLS

SOLENOID PILOT OPERATED RELIEF VALVES

DIMENSIONS

BSG-SERIES

T
PN YF PN - TR R

4 POSTTION OF PRESSURE

ADJUSTMENT HANDLE ARE
AVAILABLE BY ROTATING
OOVER ASSEMBLY AS SHIFRN. \
f in]
VENT PORT
k4
[ e L]
PRESSURE GALGE
CONNECTION
PT-1/4
e
e e O T
[
DRATN PORT
BSG-03 | 117(4.60) | 75.5(2.97) | 21.6(0.84) | 83(3.26) | 41.5(1.63) | 14.5(0.57) | 78(3.07) | 77.5(3.05) | 56.5(2.30) | 45(1.77) | 153(6.02) | 226(8.89) | -
BSG-06 | 145(5.70) | 87.5(3.44) | 5.5(0.21) [ 104(4.09) | 52(2.04) | 17(0.66) | 78(3.07) | 60(2.36) | 40(1.57) | 45(1.77) | 153(6.02) | 255(10.0)
BSG-10 | 175(6.88) | 106(4.17) | 8(0.31) | 125(4.92) | 62.5(2.46) | 21.2(0.83) | 90(3.54) | 69.5(2.73) | 49.5(1.94)| 50(1.96) | 153(6.02) | 285(11.2)

BST-SERIES

- o !\‘

PT-1/4
B pRESSURK CALGE
i S .
e  DRANPORT UNIT: M.M.(INCHES)
- _n——i
BST-03 |  102(4.01) 51(2.00) 230(9.05) 52(2.04) 68(2.67) 52(2.04)
BST-06 | 120(4.72) 51(2.00) 230(9.05) 52(2.04) 68(2.67) 52(2.04)
BST-10 | 140(5.51) 70(2.75) 284(11.1) 84(3.30) 86(3.38) 82(3.22)

PAGE91



—J*L PRESSURE CONTROLS
i

SOLENOID PILOT OPERATED RELIEF VALVES
e SOLTECH

DIMENSIONS
BSG-2P

ADIJUSTMENT HANDLE ARE
AVAILABLE BY ROTATING
COVER ASSEMBLY AS SHOWN,

@
A v o
3 2 MOUNTING
&1 i E— SURFACE
T VENT PORT i o
PRESSURE GAUGE gy
CONNECTION MEED
PT-1/4 -
i _PRES. FORT A A =
| | =
e | L
WPORT F
o J
BSG-032P | 224 | 755 | 83 | 415 | 145 | 70 | 775 | 40 | 41 | 146
BSG-062P |2515| 875 | 104 | 52 | 17 | 78 | 60 | 40 | 41 | 146
BSG-102P | 289.5| 106 | 125 | 625 | 21.2 | 83 | 69.5 | 49.5 | 46 | 280 UNIT: M.M.
PAGE 92




—JPs PRESSURE CONTROLS
i

LOW NOISE PILOT OPERATIONAL RELIEF VALVES
e SOLTECH

[sBG-03,06,10]

5% SPECIFICATION 5% GRAPHIC SYMBOL
WEIGHT SBG, SBT |
MODEL |size| MAX. PRESIMAX. FLOW| ™kg) -

MPa (PSI) | €min(GPM) [corren

"
|
03 100(26.4) 25| 5 - E'/)t \

SBG | 06 | 25(3630) | 200(52.8) | 35 | 6.2 T
10 400(1056) | 9 | 95
**MODEL NUMBER DESIGNATION
SB G 03 B (90)
CONNECTION VALVE SIZE PRESR'SA%'E'IEEADJ- DE%EF‘FNQ
SERIES T\g L, Gf_‘sf/';R'os'z'A MPa( psi) DIN 912 BOLTS
NO. | suB-PLATE | o06: 34" ?5264 As-08-2-A | D07~T(101.5-1015) 90:
TYPE 10: 1(1/4), 6264-AT-10-2-A | O 14(807.5-2030) | UNC BOLTS
: ) H:7~25(1015~3630) (NORTH AMERICA)
**ACCESSORIES
SOCKET HEAD SCREW CAP
— European Design. Std. | N. America Design Std. R
SBG-03 M12 x 40 L 1/2-13 UNC x 1-1/2 Lg..|4|Pcs| P9 |1|Pcs| P20 |2|Pcs SBG-06
SBG-06 M16 x 50 L 5/8-11 UNC x 2Lg. |4|Pcs|P10A|1|Pcs| P29 |2|Pcs
SBG-10 M20 x 60 L 3/4-10 UNC x 2-1/4 Lg. |4|Pcs|P10A|1|Pcs| P36 |2 |Pcs
Hy draulic fluid:
** PERFORMANCE CURVE SBG-03 Viscosity : 35 mm2/'s (164 SSU)
Specific Gravity : 0.850
T T T T __ 25 {3625) 80
_ 0.7 {102} —High Venting Pressure Type =~ ——~ & |
K ST 1 % 23 33s =
1 33 a 8 70
o 06 {87} = =T = 15 2175 3
o = <t ——— 9
5 =] b Q 13 {1885 60
g 04 &9 = p 1313 3 /\\
o = Low Venting Pressure Type % 1.5 {218} — z
0.2 {29} & ] 50
0.5 {73} /
L 1 1 1 1 ] 40
0 20 40 60 80 100 0 20 40 60 80 100 0 4 8 12 16 20
44y 88 {132} {1768} {22} 44y (88 {132} {1768 {22 (580} {1160} {1740} {2320} {2900}
FLOW (¥min}{GPM} FLOW (¢min){GPM} FLOW (#/min){GPM}
SBG-06
1.4 {203} 25 (3625) 80
& 12{ra & 25 3335 &
e £ g o
o 15 {21 °
% 0.8 {116} | High Venting Pressure Type S 5 179 R e — % \ |
o _ = 4
2 N Q 13 {1885} 2 60
@» = 5 ©
& o4 (58} |—= ”_{ g 15 218 —— 3
——— & J— 50
- 0.5 {73}
Low Venting Pressure Type
| | | | | | | 40
0 50 100 150 200 0 60 100 160 200 0 4 8 12 16 20
{11} (22} (33} {44} (13.2} (22} (352} {44} (580} {1160} {1740} {2320} {2900}
FLOW (#/min)}{GPM} FLOW (#min){GPM} FLOW (#/min){GPM}
SBG-10
1.6 {232} 25 (3625) 80
& 12 & 25 335 g 1
= o Z
< L | 2 15 (2175) 5 //
o 0.8 {116} High Venting Pressure Type | o 3 | o]
@ AL " Q 13 {1885} 2 60
4 = / == ‘g S
o 04 58 | L I g 2.0 {290} — 2 .
) & 10 (145
Low Venting Pressure Type
| | | | | | | | 40
0 100 200 300 400 0 100 200 300 400 0 4 8 12 16 20
(22} {44} (66} (88} 22} (44} 66} (88} (580} {1160} {1740} {2320} {2900}
FLOW (¥min}{GPM} FLOW (¢min){GPM} FLOW (min){GPM}

PAGE 93



—J*L PRESSURE CONTROLS
i

LOW NOISE PILOT OPERATIONAL RELIEF VALVES

m soLTecH

DIMENSIONS
SBG
G
E_. F
I//l i
D [\
@ -
¢ - = "|'. T
“ ,";"—."":: 0 N
A B _‘Ar : i J ¥ I"-‘:
c RO fn ®
i e
A ~+ VENT PORT
\\l i 1L 1 |
DRAIN PORT PRES. PORT
) e
|
E D —E R
e — PRESSURE
K , S | S e
- 3
| ]
| .' L] el
z e ‘ \‘. LOCK NUT  Rr5edist
1
O 17 HEX.
L | |
. g Ll
=4 L 1 = i_ —";’_l
o) |l 1
PO
\\ MOUNTING - H
\ SURFACE
L
UNIT: M.M.(INCHES)
SBG-03| 78(3.07) | 54(2.12) | 27(1.06) | 12(0.47) |34.5(1.35)| 54(2.12) | 165(6.49) | 107(4.21) [26.5(1.04) | 23(0.90) | 134(5.27) | 106(4.25)
SBG-06 | 100(3.93) | 70(2.75) | 35(1.37) | 15(0.59) | 23.5(0.92) | 67(2.63) | 167(6.57) | 124(4.88) | 23.5(0.92) | 26(1.02) | 136(5.35) | 108(4.25)
SBG-10 | 127(5.00) | 82.6(3.25) | 41.3(1.62) | 22.2(0.87) | 20.5(0.80) | 89(3.50) | 185(7.28) | 155(6.10) | 20.5(0.80) | 36(1.41) | 145(5.70) | 120(4.72)

___________________________________________________________________________________________________________________
PAGE 94



PRESSURE CONTROLS
LOW NOISE TYPE SOLENOID PILOT OPERATED RELIEF VALVES

=|Jh|5®

m soLTecH

[sBsSG-03,06,10])
*<SPECIFICATION

MAX. PRES | MAX. FLOW | WEIGHT
MODEL SIZE MPa (PSI) £/min(GPM) (Kg)
03 100(26.4) 5
SBSG, SBST| 06 25 (3630) 200(52.8) 6.2
10 400(105.6) 9.5
. SBSG-03
#*<ACCESSORIES
SOCKET HEAD SCREW CAP
WODEE European Design. Std. | N. America Design Std. European Design. Std.|N. America Design Std. ORING
SBSG-03 M12x70L 1/2-13UNC x 2-3/4 Lg. [2|Pcs M12x95L 1/2-13UNC x 3-3/4 Lg. |2|Pcs| P9 |1|Pcs| P20 |2|Pcs
SBSG-06 M16x60L 5/8-11UNC x 2-1/4 Lg. |2|Pcs M16x80L 5/8-11UNC x 3-1/4 Lg. |2|Pcs|P10A|1|Pcs| P29 | 2 |Pcs
SBSG-10 M20x70L 3/4-10UNC x 2-3/4 Lg. |2|Pcs M20x90L 3/4-10UNC x 3-1/2 Lg. |2 |Pcs|P10A| 1|Pcs| P36 | 2 |Pcs
*<MODEL NUMBER DESIGNATION
p— - — ]
SBS G 03 B R (90)
VALVE SIZE PRESSURE ADJ. RANGE | DIRECTION OF HANDLE DE%'S#_N"-
CONNECTION TYPE 03: 3/8", 6264-AR-06-2-A MPa( psi) (Viewed from pressure .
SEI\IFE')ES G: 04: 172" B:0.7~7(101.5~1015) gauge Connection) RINID2IBOLS
’ SUB-PLATE TYPE 06: 3/4", 6264-AS-08-2-A C:3.5~14(507.5~2030) L: Left (Normal) 90:
10: 1(1/4)", 6264-AT-10-2-A H:7~25(1015~3630) R: Right “:Jo’gﬁif%lg)
*MODEL NUMBER DESIGNATION
a ‘ent Connecting
- A" -
’E[Bﬁ/v\j OFF Connected to port "A".
2B3A doiz | SWG-02-2B3A
?&JT ON Connected to tank (no-load)
-
’? j OFF Connected to tank (no-load)
2B3B doiz | SWG-02-2B3B
TQJ_@ ON Connected to port "B".
B q
’T j OFF Closed .state (relief valve
‘ L setting pressure)
2B2B iz SWG-02-2B2B
T&@ ON Connected to port "B".
57
E ] OFF Connected to port "A".
282 4 T ‘ SWG-02-2B2
Téﬁ ON Connected to port "B".
’TA T ﬁ‘ OFF OFF Closed state (relief valve setting pressure)
3C2 4 Ce ‘ SWG-02-3C2 ON | OFF Connected to port "A".
|
7 OFF ON Connected to port "B".
@?H@ OFF OFF Connected to tank (no-load)
3c3 4 T ‘ SWG-02-3C3 ON | OFF Connected to port "A".
|
7 OFF ON Connected to port "B".

PAGE 95



LOW NOISE TYPE SOLENOID PILOT OPERATED RELIEF VALVES

—J*ls PRESSURE CONTROLS
i

m soLTecH

DIMENSIONS

S-BSG

PRESSURE
ADJ. CTRL

|
L 4/ il '
L B [ | O 17 HEX.
' |
| | |
© s e, i
l"! ! cr ] )
\ . iR L
" SURFACE |
] H | UNIT: M.M.(INCHES)

S-BSG-03 | 78(3.07) | 54(2.12) | 27(1.06) | 12(0.47) |34.5(1.35)| 54(2.12) | 169(6.65) | 107(4.21) [ 26.5(1.04)| 23(0.90) | 222(8.74)
S-BSG-06 | 100(3.93) | 70(2.75) | 35(1.37) | 15(0.59) [23.5(0.92)| 67(2.63) | 171(6.73) | 124(4.88) [ 23.5(0.92)| 26(1.02) | 224(8.81)
S-BSG-10 | 127(5.00) | 82.6(3.25) [ 41.3(1.61) [ 22.2(0.87) [ 20.5(0.80) | 89(3.50) | 190(7.48) | 155(6.10) | 20.5(0.80) | 36(1.41) | 273(10.7)

PAGE 96



UNLOADING RELIEF VALVES

—JPz PRESSURE CONTROLS
i

soLTeECH

[BuCcG-06]
5%SPECIFICATION
MODEL |size|MAX. PRES|MAX. FLOW WEIGHT

MPa (PSI) | &min(GPM)
BUCG | 06 | 25 (3630) 125(33) 12

**MODEL NUMBER DESIGNATION

BUC G 06 B (90)
CONNECTION PRESSUREADJIRANGE DE%ISF‘ENQ
SERIES NO. TY?E VALV_E SI,,ZE B:O.7~7h2??;$.s’|5)~1015) DIN 912 BOLTS
G: 06: 3/4 C:3.5~14(507.5~2030) 90:
SUB-PLATE TYPE H:7~25(1015~3630) UNC BOLTS
(NORTH AMERICA)
. 3 GRAPHIC SYMBOL
3% ACCESSORIES o e s
MODEL SOCKET HEAD SC?REV\( CAP O RING
European Design. Std. | N. America Design Std.
BUCG-06 M16 x 130 L 5/8-11 UNC x5Lg.. |4|Pcs| P9 |1|Pcs| P29 |2|Pcs
M16 x 50 L 5/8-11 UNC x 2 Lg. |2|Pcs P29 |3 |Pcs

**PERFORMANCE CURVE

PSI MPa BUCG-06
8 PSI MPa BUCG-06
2500 |- E 10
16 x | |
£ 2000 @125 [ 08
5 B 0 . High Venti
2 12 E 100 KPI'%ssﬁpe Egatura\//
g 0.6
& 1500 o = | 08— i
£ z Y Standard /
é 1000 - 8 <Qf. 50 0.4 \
o o //
-
Zz 2502
500 4 =]
0 0 )
50 100 150 L/min
0 | | | | | | | |
5 10 15 20 MPa 10 20 30 40
| | | | | |
1000 2000 3000 PSI Flow Rate U.S.GPM
Cut-out Pressure
a PSI MPa BUCG-06
a o4
o .
2
[=) 0.3
40
W v
3 0.2
20
ig 0.1
o L—
0
0 50 100 150 L/min
| | | | | | | |
10 20 30 40

Flow Rate U.S.GPM

PAGE 97



UNLOADING RELIEF VALVES

—J*ls PRESSURE CONTROLS
i

m soLTecH

DIMENSIONS

BUCG
103 (4.06)
70 (2.76)

(0.65) _35(1.38)
165 | |
ﬁ‘r—EL

L Q} -
| 0anh1 335 |(132)
(219)56.5 _

1.81
( 461

66.7 (2.63)
(1.31) 33.3

/G.} o (B
O

Ij=n PRESSURE
I ADJ. CTRL.

o)

{ )17 HEX.
X 197.5 max. (7.78)

INC.
53 (2.08) |
36 (1.42) d
ACCUMULATOR OR
‘ SYSTEM PORT
Piicontin
—
|
:Q
E » % g e
g R L5 {0.69)
g @ | E s i e 2-817.5
5 | I PRESSURE GAUGE
" 77 L CONNECTION
!E- ® r‘:" :\\\ l;‘{;‘”‘
;- LT Y ¥
Sl R
] v T
o | PRES. PORT
___________________ G E 'L_I' ¢ bl |
| st U \
w b
-------- J----'"--~_] e (0.69)
' ' 40175
112 (4.41) \ T
1325 (5.22) "\ DRAIN PORT

UNIT: M.M.(INCHES)

PAGE 98



PRESSURE CONTROLS
"H" TYPE PRESSURE CONTROL VALVES

=|Jh|5®

m soLTecH

[HG/HT-03, 06, 10])
*SPECIFICATION
WEIGHT
MODEL |SIZE MAX. PRES MAX. FLOW (Kg)
MPa (PSI i
a (PSI) €/min(GPM) HT | HG
03 50 (13.2) 4 4
HG, HT | 06 21 (3050) 125 (33) 6.6 | 6.5
10 250 (66) 12 | 1
*<ACCESSORIES
MODEL SOC!(ET HEAD S(.:REV\I. CAP ORING
European Design. Std. | N. America Design Std.
HG-03 M10 x 50 Lg. 3/8-16 UNC x 2Lg. [4|Pcs| P9 |2|Pcs
HG-06 M10 x 50 Lg. 3/8-16 UNC x 2Lg. [4|Pcs| P9 |2|Pcs
HG-10 M10 x 50 Lg. 3/8-16 UNC x2Lg. |6|Pcs| P9 |2|Pcs
*MODEL NUMBER DESIGNATION
H G 03 B 1 (90)
PRESSURE ADJ. RANGE DESIGN No.
CONNECE,ON NEE VALVE SIZE MPa(PSI) OMIT:
SERIES SUB PLA'I"E TYPE 03: 3/8", 1ISO 5781-AG-06-2-A A:1.8~3.5(261~507.5) TYPE DIN 912 BOLTS
NO. i 06: 3/4", 1SO 5781-AH-08-2-A 5:3.g~17‘.‘0$%i5~12%13%)) Refer to below info. 90:
: 10: 1(1/4)", 1SO 5781-AJ-10-2-A| C:7.0~14. 5~ UNC BOLTS
THREADED TYPE ) H:14.0~21.0(2030~3045) (NORTH AMERICA)

**MODEL NUMBER DESIGNATION

Can be used as lowpressure
relief valve, but
be careful to occurrence of
surge pressure.

Used to control the
operational sequence of 2
or m ore actuators. If
primary pressure exceeds
the pressure setting,
effective fluid is delivered
to the secondary side.

7

INTERNAL PILOT

D

INTERNAL DRAIN

INTERNAL PILOT
EXTERNAL DRAIN

Used for the same
purpose as for the ty pe 2.
Operated by external pilot

pressure irrespective of
primary pressure.

Used as unloading valve.
If external pilot pressure
exceeds the pressure
setting, the pump is turned
no-load by releasing all
fluid to the tank.

i

i W

-

EXTERNAL PILOT
EXTERNAL DRAIN

EXTERNAL PILOT
INTERNAL DRAIN

PAGE 99



=|Jh|§

m soLTecH

PRESSURE CONTROLS
"H" TYPE PRESSURE CONTROL VALVES

DIMENSIONS

HG-SERIES

PRES. ADJ, SCREW

A
B
DRAIN PORT ||
C
H‘”/
(0.43) D
HG-03 | 192(7.55) | 168(6.61) | 50.6(1.99) | 89(3.50) | 11.2(0.44) | 69(2.71) | 41(1.65) | 35(1.37) | 13(0.51) | 13(0.51)
HG-06 | 223(8.77) | 196(7.71) | 60(2.36) | 102(4.01) | 11.3(0.44) | 79(3.11) | 40(157) | 39(1.53) | 13(0.51) | 13(0.51) _
HG-10 | 266(10.4) | 239(9.40) | 65(2.55) | 119(4.48) | 11(0.43) | 96(3.77) | 48.5(1.90) | 40(1.57) | 5(0.19) | 17(0.66) UNIT: M.M.(INCHES)
DIMENSIONS
HT-SERIES =
',
1(0)
s RIS, ADLSCHEY -
oREET |
o E ook
£ DEERE
| ' | |1 [ 11 =
' L ¢ L R
| [} I'_._:
| _.i..: SHOONDARY FRES. B F
| “4 OUTLETRORT
e 1 i
| F j r:maxm.ﬂl |Ef.£j |
. Ll FILOT PokeT | - 1 =
" .| {% ! (N | S—
| Bl 1 [T (I &= =]
| Dl rl_l_t_ ¥ i 1-‘ ¥R :Ii
i H | | o [
Roinim® Wiy T |
RS g I\ L |
=n g™ i = - =
: | e At
| cl il oy T JLJ1
= PT-114 I H
1oty al LT] e |";:;$J]:l_” G
UNIT: M.M.(INCHES)
m A B C D E F Fq 1 J 148 L
HT-03 | 192(7.55) | 167.5(6.59)| (58(2.28)) | 30(1.18) 0 69(2.71) | 74(2.91) | 41.5(1.63) | 45(1.77) | 1300.51) | 13(0.51) 178"
HT-06 | 223(8.77) | 196(7.71) | 69(2.71) | 34(1.33) | 8(0.31) | 82(3.22) | 86(3.38) | 46(1.81) | 53(2.08) | 13(0.51) | 13(0.51) 114"
HT-10 | 266(10.4) | 239(9.40) | 87(342) | 41(1.61) | 11(0.43) | 58(2.28) | 110(4.33) | 65(2.55) | 68(2.67) | 5(0.19) | 17(0.66) 114"

PAGE 100




=|Jh|§

PRESSURE CONTROLS
"HC" TYPE PRESSURE CONTROL VALVES

SsoLTECH
[HCG/HCT-03, 06, 10])
*SPECIFICATION
MODEL |size| MAX. PRES | mAx. FLow | WEIGHT
MPa (PSI) €/min(GPM) HCTIHCG
03 50 (13.2) 4 3
HCG, HCT | 06 21 (3050) 125 (33) 75| 8
10 250 (66) 14 | 13
*<ACCESSORIES
SOCKET HEAD SCREW CAP
— European Design. Std. | N. America Design Std. S
HCG-03 M10 x 70 Lg. 1/2-13UNC x 1-1/2 Lg.[4|Pcs| P9 |2|Pcs
HCG-06 M10 x 80 Lg. 3/8-16 UNC x 3-1/4 Lg.|4|Pcs| P9 |2|Pcs
HCG-10 M10 x 90 Lg. 3/8 -16 UNC x 3-1/2 Lg.|6|Pcs| P9 |2|Pcs| P38 |2 |Pcs HCT-03
*MODEL NUMBER DESIGNATION
H (o3 G 03 B 1 (90)
CONNECTION PRESSURE ADJ. RANGE DESIGN No.
WITH TYP VALVE SIZE MPa(PSI) OMIT:
SERIES CHECK G: 03: 3/8", ISO 5781-AG-06-2-A A:1.8~3.5(261~507.5) TYPE DIN 912 BOLTS
NO. |V,[VE |SUB-PLATE TYPE| 06:3/4", ISO 5781-AH-08-2-A | B:3.5~7.0(507.5~1015) |Refer to below info. 90:
T: 10: 1(1/4)", 1SO 5781-AJ-10-2-A| C:7.0~14.0(1015~2030) UNC BOLTS
THREADED TYPE H:14.0~21.0(2030~3045) (NORTH AMERICA)

**MODEL NUMBER DESIGNATION

TYPE 1: COUNTERBALANCE VALVE

TYPE 2 : SEQUENCE AND CHECK VALVE

Used to prevent gravitational
falls by generating a
pressure on the actuator

operating sequence of two

Used to control the

or m ore actuators. If

free by a check valve.

. X primary pressure exceeds
return side. If primary .
=i ressure exceeds the = HelpiesSurclsetting:
= P . e _&] effective fluid is delivered
pressure setting, fluid is .
to the secondary side.
released to keep the pressure .
Reversed flow is free by
constant.
a check valve.
ﬁ INTERNAL PILOT ﬁ INTERNAL PILOT
INTERNAL DRAIN EXTERNAL DRAIN
T T T T T T
TYPE 3 : SEQUENCE AND CHECK VALVE TYPE 4 : COUNTERBALANCE VALVE
Used for the same purpose gt Used for the same purpose
as for ty pe 2. Operated by as for ty pe 1. Operated by
external pilot pressure external pilot pressure
= irrespective of prim ary irrespective of prim ary
pressure. Reversed flow is pressure. Reversed flow is

free by a check valve.

EXTERNAL PILOT
EXTERNAL DRAIN

EXTERNAL PILOT
INTERNAL DRAIN

** PERFORMANCE CURVE

HCG-03 HCG-06 HCG-10
0.4 0.4 0.4
{58} {58} {58}
o 03 o 03 o 03
E 0 Ez §g
o o o
—
@E gE / gE
o o o
{is) - {1s) {is)
5 5 T 5
/ L—]
0 10 20 30 40 50 0 25 50 75 100 125 0 100 150 200 250
2.2y {44} (6.6} (8.8} {11} (55} {11} {1655} {22} {27.5} (22} {33} {44} {55}
FLOW (Umin)}{GPM} FLOW (#min)}{GPM} FLOW (#/min)}{GPM}

PAGE 101



PRESSURE CONTROLS
"HC" TYPE PRESSURE CONTROL VALVES

=|Jh|§

m soLTecH

DIMENSIONS
PRES. ADI. SCREW LOCK NUT
O RER.] O REE. 1
1
I SECONDARY PRES.
: MOUNTING OUTLETPORT
| SURFACE 4’*'—'*—
j 1 I
G T '_t'./ &)
!
| {
o EXTERNAL PILOT PORT
RS == N2 —
! Ay PRIMARY PRES.
| INLET PORT
L-I—-ﬂl-
G
F
['MODEL A B | ¢ | D E F G | H [ J
HCG-03 | 192(7.55) |167.5(6.59)| 50.6(1.99) | 89(3.50) 11.2(0.44) | 90(3.54) 58(2.28) 35(1.37) 13(0.51) 13(0.51)
HCG-06 | 222(8.74) | 196(7.71) 60(2.36) 102(4.01) | 11.3(0.44) | 109(4.29) 68(2.67) 40(1.57) 13(0.51) 13(0.51) .
HCG-10 | 266(10.4) | 239(9.40) 65(2.55) 119(4.48) | 11.1(0.43) | 131(5.15) 80(3.14) 48(1.88) 5(0.19) 17(0.66) UNIT: M.M.(INCHES)
DIMENSIONS
: @
e | Q—C PRES. ADJ. SCREW
' @ . OREED
@O
s __LOCKNuT
SECONDARY PRES, OREF.K
- - GAUGE CONNECTTON, DRAIN PORT
{Rec) PT-1/4 {Re) PT-L ]
SECONDARY PRES. A FRIMARY PRES 1
OUTLETPORT S INLET PORT
H % /E
A it
. { FILOT PORT C} =
PT-L |
PRIMARY PRES. (Re) X
GAUGE CONNECTTON = = 1
PT-1/4 |
(Re) K
|- | I 3 L]l
.G _|
E UNIT: M.M.(INCHES)
m A B C D = F Fﬂ 1 J K [
HT-03 192(7.55) |167.5(6.59) | (58(2.28)) 30(1.18) 0 95(3.74) | 41.5(1.63) | 39(1.53) 45(1.77) 13(0.51) 13(0.51) 1/8"
HT-06 | 223(8.77) | 196(7.71) | 69(2.71) | 34(1.33) | 8.3(0.32) | 111(4.37) | 46(1.81) | 48(1.88) | 53.5(2.08) | 13(0.51) | 13(0.51) 174"
HT-10 | 266(10.4) | 246(9.68) 87(3.42) 40(1.57) 15(0.59) 154(6.06) 64(2.51) 58(2.28) 68(2.67) 5(0.19) 17(0.66) 1/4"

PAGE 102



PRESSURE CONTROLS
REDUCING PRESSURE VALVES

=|Jh|5®

m soLTecH

[RG/RT-03,06,10])
>I<G‘RAPHIC SYMBOL

3 SPECIFICATION
EIGHT| [ RG,RT |
MODEL | size | MAX. PRES. |MAX. FLow| WEISHT
MPa(PSI) 2/min(GPM) ==o
RT | RG
RG RT |03 25 (3630) 50(132) | 4.2 | 46 | |'1 .
: 06 125(33) | 74 | 7.2 0
*MODEL NUMBER DESIGNATION
CONNECTION TYPE PRESSURE ADJ. RANGE DESOI“GAH-_NO'
SERIES G: VALVE SIZE MPa( psi) p RT-03
O | SUB-PLATETYPE |03:3/8",1S0 5781-AG-06-2-A| Bi0.7~7(1015~1015) | DIN912BOLTS )
: T 06: 34", ISO 5781-AH-08-2-A | C:35-14(5076-2080) | = 90
THREADED TYPE H:7~25(1015~3630) (NORTH ANERICA)

< ACCESSORIES
SOCKET HEAD SCREW CAP
ERp— European Design. Std. | N. America Design Std. e
RG-03 M10 x 50 Lg. 3/8-16 UNC x 2 Lg. Pcs| P9 |1|Pcs| P18 |2|Pcs
RG-06 M10 x 50 Lg. 3/8-16 UNC x 2 Lg. Pcs| P9 |2|Pcs| P29 |2 |Pcs

*¢PRODUCTS LIST

PAGE 103




REDUCING PRESSURE VALVES

—J*ls PRESSURE CONTROLS
i

m soLTecH

DIMENSIONS
RG-SERIES Nty

S PT-14
/' (Re)

........ - e
O ITHRX. | — INC, A

j I'. PRIMARY PRES. PORT L
1 — — i
H

= - - AR
H SECONDARY PRES.

= PT-1/4
o $ {Rc)

o 44

4-9 11 (0.43)

-
SECONDARY
PRIS. PORT

["MODEL A B C D E F © H 1 J
RG-03 | 159(6.25) | 93.5(3.68) | 40.5(1.59) | 89(3.50) | 11.2(0.44) | 69(2.71) | 42(1.65) | 1455(5.72) | 43(1.69) | 44.5(1.75) _
RG-06 | 186(7.32) | 116.5(4.58) | 40(1.57) | 1024.01) | 11.3(044) | 79(3.11) | 39(153) | 143(562) | 40(157) | 51200y | YUNITM-M.(NCHES)

DIMENSIONS

RT-SERIES

UNIT: M.M.(INCHES)
E F G H [ J K L M|

MODEL A B C D
RT-03 | 159(6.25) | 86(3.38) | 48(1.88) | 30(1.18) | 74(2.91) | 41.5(1.63) | 47(1.85) | 151(5.94) | 42(1.65) | 80(3.14)
RT-06 | 186(7.32) | 103(4.05) | 53(2.08) | 34(1.33) | 86(3.38) | 46(1.81) | 53(2.08) |148.5(5.84)| 46(1.81) | 96(3.77) | 48(1.88) | 42(1.65)

PAGE 104

40(1.57) | 30(1.18) | 41.5(1.63)
46(1.81)




=|Jh|§

soLTeECH

*¢SPECIFICATION

PRESSURE CONTROLS
REDUCING PRESSURE WITH CHECK VALVES

[RCG/RCT-03,06,10])
*GRAPHIC SYMBOL

RCG, RCT
MODEL | size | MAX. PRES. |mAx. FLow| WEIGHT| L F=5. 521
MPa(PSl) eimin(GPM) [~ = { |
03 50(132) | 45[55 % i% ]
RCG, RCT 06 25 (3630) 125(33) 78 | 82
**MODEL NUMBER DESIGNATION
RC G 03 B (90)
CONNECTION PRESSUREADJ. | DESIGN No.
SE = o TYPE RANGE OMIT:
REDUClNECADDED TO < 03: 3/8" Ygggnge 06-2-A MPa( psi DIN 912 BOLTS
DESIGNATED |SUB-PLATETYPE| (o a IS0 5781-AH-08-2-a | .07 ~7(101.5-1015) 90:
INTEGRAL CHECK T s AH-08-2-A | 0.3 5-14(507.5~2030) | UNC BOLTS
THREADED TYPE H:7~25(1015~3630) (NORTH AMERICA)
**ACCESSORIES
SOCKET HEAD SCREW CAP
— European Design. Std. | N. America Design Std. R
RCG-03 M10 x 75 Lg. 3/8-16 UNC x 2-3/4 Lg. |[4|Pcs| P9 |1|Pcs| P18 |2|Pcs
RCG-06 M10 x 85 Lg. 3/8-16 UNC x 3-1/4 Lg. [4|Pcs| P9 |2|Pcs| P29 |2|Pcs
*PERFORMANCE CURVES
20.25(36.25)
g
S02 {29)
S
RCG/RCT-03 & 0.15{21.75}
& 0.1
0.1 {14.5
7
& 0.05 {7.25}
4
o
10 20 30 40 50
(2.64) (5.28) {792 {1056} {13.2}
T 0.6 {87)
©
L 05 {725)
&04 {58
4
RCG/RCT-06 S 0.3 {43.5)
%02 {29}
?
101 (145 ———
o
10 20 30 40 50
(2.64) (5.28) {792 {1056} {13.2}
T 04 {58)
ra
o
S 03 {435
o
2
RCG/RCT-10 S 0.2 {29}
@
?
D01 {14.5)
Lu /
T
25 50 75 100 125
(6.6} (132} {19.8) (264} {33}

—

PAGE 105



—J*ls PRESSURE CONTROLS
i

REDUCING PRESSURE WITH CHECK VALVES

m soLTecH

DIMENSIONS
RCG-SERIES vawrscer
[ = L Twa'
J{_ QF KO ;f:
© L= N
=5 o gy P —
"= XM W\. i - H

LR
{1.73}

pramport (| E G
f. T s F

["MODEL A B C D E F © H 1 J
RG-03 | 159(6.25) | 93.5(3.68) | 40.5(1.59) | 89(3.50) | 11.2(0.44) | 69(2.71) | 42(1.65) | 1455(5.72) | 43(1.69) | 44.5(1.75)
RG-06 | 186(7.32) | 116.5(4.58) | 40(1.57) | 102(4.01) | 11.3(0.44) | 79(3.11) | 39(1.53) | 143(5.62) | 40(1.57) | 51(2.00)

UNIT: M.M.(INCHES)

DIMENSIONS
RCT-SERIES PN
DRAIN FORT
PT-1/4
. _ (Rc) [
e FrLL e :
PRIMARY PRES. "
. GAUGE CONNECTTON
oV e el
(Re) I
B : G A : ?
S IR o — R0
b=t S it REHHLHC
A D - gl PRIMARY PRESSURE
INLETPORTOR __fipr-
REVERSED FREE L.
OUTLET PORT | 4
e |
=
. | sEcoNDARY I
PRES, OUTLET PORT
OR REVERSED FREE
FLOW INLET PORT I
— M0 F
WENGRAD E
C17 HEX.
HREH
SECONDARY PRES. !
GAUGE CONNECTTON, |
(Re) PT-1/4 ‘
UNIT: M.M.(INCHES) R &HL_QH
MODEL A B c D E F < H [ J K L M

RT-03 | 159(6.25) | 86(3.38) | 48(1.88) | 30(1.18) | 74(2.91) | 41.5(1.63) | 47(1.85) | 151(5.94) | 42(1.65) | 80(3.14) | 40(1.57) | 30(1.18) | 41.5(1.63)
RT-06 | 186(7.32) | 103(4.05) | 53(2.08) | 34(1.33) | 86(3.38) | 46(1.81) | 53(2.08) |148.5(5.84)| 46(1.81) | 96(3.77) | 48(1.88) | 42(1.65) | 46(1.81)

PAGE 106



=|Jh|§

m soLTecH

PRESSURE CONTROLS

MOUNTING INTERFACE

DIMENSIONS
BR-SERIES
BG-SERIES
DB-SERIES
SBG-SERIES
E
D
AB C
J |
H
G
m A B e D E F F
03 | 53.8(2.11) | 47.4(1.86) | 22(0.86) | 22(0.86) 0 53.8(2.11) | 26.9(1.05)

06 66.7(2.62) | 55.5(2.18)

33.4(1.31) | 11(0.43)

238(0.93) | 70(2.75) | 35(1.37)

10 88.9(3.50) | 76.2(3.00)

445(1.75) | 12.7(0.50)

31.8(1.25) | 82.6(3.25) | 41.3(1.62)

UNIT: M.M.(INCHES)

DIMENSIONS
RG-03 66.7 (2.63)
58.8 (2.31)
HG-03 YT
HCG-03 3 031
CPDG-03

I 1

7.1)(0.28)

21.4 (0.84)

429 (1.89)
35.7(1.41)

31.8 (1.25

UNIT: M.M.(INCHES)

PAGE 107



MOUNTING INTERFACE

—J*ls PRESSURE CONTROLS
i

m soLTecH

DIMENSIONS
79.4 (3.13)
RG'06 T3(2.87)
HG'06 39.7(1.58
HCG-06 02
CPDG-06
1 IC
S 7 l“\f
Sy My, N an v}
S8z | Ui, Te
ke @l
. 7 |
_ ©
ﬁ ( UNIT: M.M.(INCHES)
DIMENSIONS
HG—1 O mta.s"}
HCG-1 O 92.9 (3.66)
48.4 (1.91
CPDG-10 i
{0.16)
| |
2 r;' “::. ~
e ™A o '
Els| Y NZAR I
| a3E "H— f@ & 28
3 s|o9 @ ¥is
E E 8 T . Fany g
/ (v
%) é;;; &
o Q
l_I_J L!_! UNIT: M.M.(INCHES)

PAGE 108



